A £ 0l & AF & S

Al A

20238 =0ila eI nSMS
SA: DEHS
M =.5Sus N 25
ol WsZAEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
WM 36,272,942 13,083,784 23,189,158
Jl 3,109,234
== 11,786,855
Al 21,376,853
T.ESSus N 235 3,408,022 3,061,172 346,850
M= 3= FSPNE] 3,408,022 3,061,172 346,850
MESs2e=Piial 3,408,022 3,061,172 346,850
201 et23| 2,500 54,110 A51,610
01 AtR2t2|HI 2,500 54,110 /51,610
O+ 2,500
hEpstsAlE =2 BAl
2,500,000 *14] 2,500
202 04l 6,000 6,000
01 2LHoIH 6,000 6,000
OUSXHAIY =& 22| 04|
150,000 x4& * 103 6,000
301 eEtE N = 212,000 21,500 190,500
03 A2 E A0S (XILTHH) 210,000 0 210,000
Ox&stu Ygsr=ols Ad
100,000& %2, 100 210,000
11 AALAEIXIE S 2,000 21,500 219,500
Ou=3SH Fdanel 23l JHAl
2,000,000& *14] 2,000
306 £= 499,262 325,500 173,762
01 2d= 499,262 325,500 173,762
O(W)=SZHSIHL =013 499,262
¥z N (SYEHT 4, 1w 48<
&, OlFs 94 Zet3)
447,000,000 *14] 447,000
SRS 2g N
52,262,000 * 14| 52,262
307 lztol & 63,000 79,700 216,700
02 2B YA E X 63,000 79,700 16,700
02023 stul & Metstus 2 At
10,000,000 * 14 10,000
Os=0 Mot 15,000,000 * 14 15,000
02023 He FHATH™ HAEEY
20,000,000& *14{ 20,000
OSZuUSAEHLEY g5 X3
10,000,000& * 14 10,000
OSERZSUSs S HEs &8
A& 4,000,000 * 14 4,000
Odd s 4,000,000 * 14 4,000
308 XtXIEMSO0IE 2,625,260 2,571,662 53,598
08 w=J| 202X 2,625,260 2,571,662 53,598




2A: BFEAHSU
M X SsWs A& 2st
ol nsUMIA (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OZS8tm SAZ0IAA Bixl
70,200,000 *1Al 70,200
OxS8W AN SHEZWAF BIXI (162
IR A BHXI) 700,000,000 14 700,000
Ostng S)HELdE=z ) 29 X
5,000, 0002 *20JH 100,000
OS435t0 JlsHatat X (4Hw)
93,000,000 & 14 93,000
O= - Asstn A w=sHl X2 781,860
-E5D MUY D=Y| XK
314,000& *2,407H *50% 377,89
~DESD Al DY X
314,000& *2, 573 *50% 403,961
OXtsd S8 SESAAY
150,000,000 * 14 150,000
O gs 2=X3
10,000, 000& *10JH 12 100,000
ONgsE SpsI7? 22
220,000,000& * 14! 220,000
O=ZgdMusd 2% K&
80,000,000 14| 80,000
OXZMEXIAHEH K&
60,000,000 14! 60,000
OS=usSkdH 2203 29
20,000,000 & 14 20,000
Ostd MEX T uns 29
25,000,000 14| 25,000
OSI AAHLMEY, QI3 Bt ME T2
46,000,000 * 14 46,000
OX=EDIH 29 80,000,000 14! 80,000
O=Xd 0Dl =M 29
20,000,000 14| 20,000
Ot ssus 29
35,200,000 & *14! 35,200
OXzXSIZ ) 2
4,000,0002 %110 2 44,000
HMSISHUHM 25 562,398 503,018 59,380
T 50,000
Al 512,398
M= 562,398 503,018 59,380
= 50,000
Al 512,398
HMNE XS 113,520 100,520 13,000
201 LB-2AY| 77,520 77,520 0
01 AtR2elt] 6,520 6,520 0
Oget=ZH| 5,400




2A:
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33 HdssHM 75
o9l BMDS CCE-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Edstg duE ME
10,0003 »200= 2,000
-R0DIE HHEUH SRS M
500,000 22 1,000
-EASsT2H S22 ME
600% *4,000% 2,400
O=2g+d 1,120
“HMDSEHos 24
70,0002 x8H*23] 1,120
02 S3=gHl 9,000 9,000 0
OX=zEMsIEEAIZ2S 2/l
4,000,000& *12] 4,000
O=ZAl gdsis2E RAZ=H|
5,000,000& *14] 5,000
03 A2 Y| 62,000 62,000 0
OSZAIRY 0310l 2% 29
6,000,000 62| 36,000
OBMSIS XE MAl Y B
15,000,002 13! 15,000
OBMSS BHT ADo% 29
5,000,000& *12] 5,000
OUEIoI= BMsss2s S92 &% U
HEgLz2d 24 6,000,000& *12 6,000
202 04| 2,100 2,100
01 =LHOLI 2,100 2,100
OHMDS BHN H(BMDSTS)
150,000& 2 & *42] 1,200
Oliet2l= BdssEEs &t
150,000 3 »23] 900
207 ARl 25,000 25,000
01 A S| 25,000 25,000
OSZAl ddsis 243 2789
25,000,000 * 14! 25,000
301 LELE NS 8,900 8,900
11 dAMEEIXIZE S 8,900 8,900
Oletel= dstgstesl S0t 0 Al
& 500,000 *3H & 1,500
Oolstel= Edsigutgs ot SHE X
! 150,000 8 »23] 2,400
Ogdsts =Ml ZI8HE &
200,000 2500 B 5,000
gdists 29 139,800 109,800 30,000
= 50,000
Al 89,800
201 er2&| 31,800 31,800
01 At2teltl 6,800 6,800
Odgt+==H| 6,000
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33 HdssHM 75
Sl Bdus EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-SIE AR OI0R)] WX, EE28EX, 2
g A28 S 7Y 6,000
St M 25,0002 1002 2,500
sS2E MH 5002 +5,000% 2,500
249 A28 7Y 1,000,000 *14] 1,000
Oogxt= 800
—SI FARF 0I0H)| B Ests MEER=E
400,000 22 800
03 &A= 25,000 25,000 0
OXO0Pte g2 228 29
50,0002 x252 &+ 123 15,000
OA2HE Edstg 1218 XN
500,000 1004 #2353 10,000
202 04t 1,200 1,200
01 201l 1,200 1,200
OmMsts T2y 2% ALEF oY
150,000 2 *43] 1,200
301 22N = 6,800 6,800
11 AALAEIXIE S 2,000 2,000
O=ZE FAI2t 010k B &HME &3HI
20,0002 x50 +23] 2,000
14 IIEt2 83 4,800 4,800 0
OSE HARF 010 2208 ZAl=+H
300,000 +82]*27| 4,800
307 @120l & 100,000 70,000 30,000
== 50,000
Al 50,000
02 LB HANHEE 100,000 70,000 30,000
OB N=F X2 A
100,000,000 * 14| 100,000
= 50,000
Al 50,000
FUAS Mg 12 )8 =29 229,058 229,058
201 er23| 89,700 89,700
01 AtR2t2|HI 82,800 82,800
Odgt==H| 82,800
-FEAIEY Z2 )8 24|
300,000& *x230H S* 123 82,800
2 35244l 6,900 6,900 0
OAIZ&Hl sXIbl 6,900
-FOAEY Z20% 29 FH| 2/
300,000& *230H= 6,900
202 04| 1,350 1,350
01 2K 1,350 1,350




2N DSUSY
M ZAUSISHH 7S

Sl Bdus EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFoiAtge T2 382 g2=8 0l
150,000 32 »33] 1,350
301 EtE2 NS 115,008 115,008
14 0Bt 2a=S 115,008 115,008
OFgArge T2 29 112,608
“SAE
100,000 »4H 2 T) 230 S+ 122 110,400
NS AL S41H|
8,0003 1+ S+12& 2,208
O=F2AgY Sdat 22718 29
200,000& * 128 2,400
405 AtatE = 23,000 23,000
01 Tt =S F=HI 23,000 23,000
O=2Age Z208 298 L3717
1,000,000 23S 23,000
Hel2oius 23 80,020 63,640 16,380
201 er23| 9,300 9,300 0
01 At2teltl 9,300 9,300 0
Odgt+==H| 9,300
-doEdusE 28 9,300
gelEZo ni 2
3,0003*32 +300 2,700
- goRol Y HEE Y
200,000& %1304 = 2,600
E2H| 5003 +5,000% 2,500
JIEt =&l 1,500,000 *14] 1,500
301 22N = 70,720 54,340 16,380
11 AALEEIXIE S 5,200 5,200 0
Odolzdfusd MEss
400,000&* 130 = 5,200
14 IIEt2 83 65,520 49,140 16,380
OdoIZaius A=
20,0002 * 1) S+33] #4221 2 65,520
H=&E 32,012,913 9,193,690 22,819,223
Il 3,109,234
== 11,736,855
Al 17,166,824
H=X&2 4,016,351 3,460,098 556,253
Jl 1,100,234
= 86,855
Al 2,820,262
HFNEXNZ 11,710 11,710
201 fer= 3| 5,410 5,410
01 At 2|l 5,410 5,410
Oget=EH| 2,750




25 nEHSH
H: MRS
C: MK (SH9 H2)
. _ S[E]
SA - B C(BH) - MISAY - BAS Ofl Aot 05”55 HR=2
2E MR0E Xl S 22 #4% MH
110,000 *5 01 A %53| 2,750
oY%y 2,660
HSHEIZ2BHAIRE] Fl0IEA &
= 70,0002 x7H 23| 980
HSHEHIE 51013 4o
70,0002 %12 23| 1,680
202 04| 6,300 6,300
01 =2WHAHY] 6,300 6,300
O2= =203 &I Y|
150,000 *3H % 103] 4 500
OFZHE, SOIXAE, HOI=BIMASE, =0l
MEHIEUE S A0
150,000 *3H »43| 1,800
2= K& 1,184,292 1,127,292 57,000
201 LBt2AH| 2,000 2,000 0
01 AFR22t2|HI 2,000 2,000 0
OYbt4=2H]| 2,000
2ZEUIXR AIRE23Hl S
200,000& %103] 2,000
301 LEIENZ= 1,792 1,792
11 HALAIHIX 2 1,792 1,792
O=M. &2 SHAAHIXIR 2 1,152
-Z=. 5.0 X st AKX 2HES
8,000 x22H 23| 352
-HI=SHA 32y 8,000 x50 H 23| 800
OAUE NSHAF 23 A TASAIA S
Hl 8,000 *40H «23| 640
307 GI2t0| & 1,180,500 1,123,500 57,000
02 QIZIAAMAIHE X 1,180,500 1,123,500 57,000
OANHEE (2 & J=2) HalH= 160,000
-OIAIOIESAEEHAD|UE & SEM=2F4
EXAI|HE W= 55,000,000 %13] 55,000
—2LLOA 2R D18 HEZ2HHECIEHE
15,000,000 *13] 15,000
2RI M=2E320E JH=E
20,000,000& *13] 20,000
M= =8 aP|d=AUE JN=
70,000,000 %13] 70,000
OAIMIE3 (2ZAIED] - BH) 3R 256,000
—2ZAIAD| DFHEO = - W FFUS
15,000,000& =13 15,000
ST A|ZHH A2AIXZ2210|2THE] JHE
15,000,000 «13] 15,000
—STAIEH ATZEHLA(ER)UE KX
5,000,0002%13] 5,000
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&el: MsKE (e A
SA - ZE . BR() - HRAR - BES of v G o HIDE2

“SZAEH d=FE02 OHE

9,000,000& *12] 9,000
—SEAEI] ZEUE OHA

7,000,000 12} 7,000
-SZAZH HH=0E =

6,000,000 *12] 6.000
-SEASH EHRA A=A UE OfF

15,000,000& *13] 15,000
-SEAEI| OFRUEl KA

5,000,000& 12} 5,000
-SEAED| SSUHUAE! i

10,000,000 *13] 10,000
-SEASH =MIZZE OfE

9,000,000& %12 9,000
—SEAIZH SEANSUS R

55,000,000& *13] 55,000
~SZAIEH d=HAATXUZ] OHE

5,000,000& 12} 5,000
“SZA ZEIHESIIFUEOI=/E

5,000,000& *12] 5,000
-SSR EE 2| MM4E HINE =
aZJIU2l, M31gl d=dEHs SBIIU
=l 95,000,000& *13] 95,000

OAldI=al (EalFI] 2) W3z 132,500

-SEAl I-league(F - FaH =703!) KA

27,000,000 13 27,000
SRS Mg - 2 4EHSHLLA
CHal JH= 5,000,000& *12] 5,000
-SEFEAMH & SE2FI] Bi0HE A

10,000,000 *13] 10,000
-SEil QEE2UR OhE

3,500,000 *12] 3,500
-MEE =28 =2 el JhE

4,000,000& *12] 4,000
SN BFE - BUSSSHEY S0
2 JHE 2,000,000& %12 2,000
-Ustett =gl 3ol det= SAU JhE

2,000,000 %12 2,000
-SZAMSZIE =203 A

10,000,000& x12] 10,000
-SZAEAE SSIIU=2 K=

1,500,0002 %12 1,500
-HgMgR 1500AIZ AOIESU = JHE

8,000,000& 12 8,000
-HgAgR 16018 2d S =U= JHE

4,500,000& *12] 4,500
-SEAl BE (x5 - 1) SUE N
kS| 5,000,000& 12} 5,000
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Hu: HKAS
el MSAA (e A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
“SZA=SIISEAZE =805 N
e 1,500,000& %12 1,500
—SEASASES T HAITS OHZ
1,000,000& %12 1,000
-SEASTEHIEH sTHUSE i
3,500,000& %12 3,500
-2 EdII0IE =M JHAl
1,500,000& %12 1,500
—SEAIECHAHY HHALHS] JHF
1,500,0002 %12 1,500
—SEF AR KA
2,000,000& %12 2,000
-SLAl LelEeIMHI0IE S8 HEd N
e 2,000,000& %13 2,000
—SEALSZEHLUASEIIEE A~ EHIL
23] = 1,500,0002 %12 1,500
SZARIIE2IEEH OFAILICHE] JHZ
500,000 12| 500
—SEAMZEAEZI] MEZAU A
3,000,000& %12 3,000
~Hetg XA HHERIE 3] JH=
15,000,000& *13] 15,000
~SEAZYESIFII(H) Y HH
SEHal JH=l 17,000,000 *13] 17,000
OAMHM=2 Halsd 329,000
-MetdEMEUe X
200,000,000& x12] 200,000
-Metgll MENSUHE 28
80,000,000& *13] 80,000
Mg HEAdENSUHES EX
10,000,000& * 13} 10,000
-Met"gE Oel0ldEHslEd 28
1,000,000& %12 1,000
-NHEAl =28 AdUEMSU OHE
30,000,000& *13] 30,000
A=+ E4Y 3,000,000 *12 3,000
-HZ2AAH0IESUE X
5,000,000& *12] 5,000
OJIEt 2tEUE Mzl & =H
120,000,000& *13] 120,000
OHOMAUMZ2l tHal Nzl 45,000
-SAH A=A EH U JHA
5,000,000& *12] 5,000
—SEAEI| HOHI LSS N
25,000,000 *13] 25,000
-SEAEI M-S - g JojeluasE &
HusHE O3 5,000,000& 12} 5,000
-dsg AdusU=l A
10,000,000& x 12l 10,000
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HRERE
el MSAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHUeIM=2 UaEN 138,000
Mg JoeXSsia EX
90,000,000& *12] 90,000
-MetdT HoHMEN S 28
10,000,000 * 12! 10,000
MY T AZABHHSUE B
3,500,000 *12] 3,500
Mg s0Xsia 28
5,000,000& *12] 5,000
-A= =HEH00tENe &
2,500,000& *12] 2,500
~H2 HOHRINOIERHS B
2,000,000 %13 2,000
-HEEHAE 8= ZoedMsiz 28
15,000,000& x12] 15,000
-5 JALEH=UH OHE & =X
10,000,000 x 12! 10,000
MM X 532,233 512,100 20,133
= 8,160
Al 524,073
307 elzto| & 532,233 472,100 60,133
= 8,160
Al 524,073
02 2IZHBYAIHE A 15,000 15,000 0
OM=ool & 32 5& L A=Y
10,000,000& x12] 10,000
OZHAIHM=le & A H& X dA2E
Bl 5,000,000& 12 5,000
03 2IIHHEE2SHIEX 517,233 457,100 60,133
OSEANF2 288 82X
259,000,000 x 14 259,000
OSEAIZUMUM=S 288 24
110,293,000 * 14 110,293
OMEHSXNEN = 102,280
-uEH| 150,000 x17E12& 30,600
-2 100,000« 17 =123 20,400
-g&=4 17,800
g8 600,000 x4 H+23] 4,800
INE=N; 500,000& x13&+23] 13,000
-ZE=+g 33,480,000 x 14 33,480
OMEMEX A EsKIEH
100,000« 17 =122 20,400
s 8,160
Al 12,240
OYUMALEN SN =< 25,260
pani=ts] 7,200,000 *14] 7,200
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u: SXE
el MSAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

=4I 4,800,000 * 14 4,800
-g&=8 4,200
EES 1,200,000& *14] 1,200
INEIN; 3,000,000& *14] 3,000
-2 XI&H| 2,640,000 x14] 2,640
-ZE=g 6,420,000 *14] 6,420
Pz 291,000 291,000 0
307 @20l & 144,000 144,000
02 QItEAAEE X 144,000 144,000
Odcdtd=MEU &8 2+ SEXE 66,000
Mg XS g8 s F4 X
2 40,000,000& %12 40,000
Mg EMSUe 288 018 g4
13,000,000& * 13l 13,000
-MetgEMEUe EMES S840 A&
gl 9,000,000& %12 9,000
-AIHE 282 &2 XSX X2
4,000,000& 12 4,000
OMSISAIY X2
40,000,000 *13] 40,000
Odctdr HMINSUE 28 P
sS4 38,000
-S5E€ 301" g4 X
18,000,000 * 12l 18,000
-Het"gE YoM A4S N
20,000,000& 13} 20,000
308 AHAIEMSOIE 147,000 147,000
08 WEII20UStEx 147,000 147,000
Oz =-5 -1 18l 18257 54 XN
147,000,000 * 14! 147,000
HE==Y 111,600 111,600
301 LELE NS 18,400 18,400
14 JIEt2d= 18,400 18,400
O uMSAIE ME= X2
18,400,000 » 14 18,400
307 el2to| & 93,200 93,200
02 2B YA R E £ 93,200 93,200
Odensud 29 23,000,000 x 14 23,000
Onfl - 50| MEHF WA
60,200,000 * 14! 60,200
Ol HEHs HISIAI
10,000,000& * 14| 10,000
LEHHSHS X=X HHXI AL 184,128 178,783 5,345
) 92,064
Al 92,064
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el MSAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 184,128 178,783 5,345
Jl 92,064
Al 92,064
02 2IZHBYAIHE X 184,128 178,783 5,345
Oggt WatHSX Xt iR XI& 184,128
-=20 2,544,000 «6Z ~ 122 183, 168
Il 91,584
Al 91,584
-NcEs 282 160,000 62 960
Jl 480
Al 480
GISFAP Lo [E=INE=IN R PP 3= 337,568 327,768 9,800
) 168,784
Al 168,784
307 @201 & 337,568 327,768 9,800
Il 168,784
Al 168,784
02 LB AANHEE 337,568 327,768 9,800
Ooozd HENFX=A Xl X 337,568
=0 2,544,000 x11E~12& 335,808
Il 167,904
Al 167,904
-NEgs 282 160,0002*11% 1,760
Jl 880
Al 880
O M=K =X+ BIXIAHS 152,640 118,565 34,075
Jl 76,320
Al 76,320
307 glztol & 152,640 118,565 34,075
Il 76,320
Al 76,320
02 2B YA HE X 152,640 118,565 34,075
Ol HEHFA=A BRI XIS
2,544,000 5122 152,640
) 76,320
Al 76,320
UaDiz & =8 64,800 64,800 0
201 =3 3,000 3,000
01 At22t2l] 3,000 3,000
OZH % A2 FRUS B 2
g 3,000,000 *14] 3,000
202 04l 1,800 1,800
01 =LHAHI 1,800 1,800
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el MSAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUEDHE HE4E L =2H - H=03 24
23 0l 150,000 32 *43] 1,800
307 gl2to| & 60,000 60,000
02 2B YA AR A 60,000 60,000
OZUE0ketEtzl Nzl
60,000,000 * 14! 60,000
HEISHE =23 200,000 200,000 0
Jl 160,000
Al 40,000
307 glztol & 200,000 200,000 0
Il 160,000
Al 40,000
02 2B YA E X 200,000 200,000 0
O20IHZ MY 22 X2
200,000,000 * 14 200,000
) 160,000
Al 40,000
ARx 2% 023 AMH(HIRH) 803,700 389,120 414,580
Jl 562,590
S 72,333
Al 168,777
301 EetE NS 803,700 389,120 414,580
Il 562,590
= 72,333
Al 168,777
01 Al EE A S (2 RDEXMR) 803,700 389,120 414,580
OAZZLHO0IET ALY
95,0002 x705H 122 803,700
Il 562,590
= 72,333
Al 168,777
ZOHR! AXX2ARO0IED AL 70,680 31,360 39,320
Il 49,476
= 6,362
Al 14,842
301 EtE N = 70,680 31,360 39,320
) 49,476
< 6,362
Al 14,842
01 A2 HSHS(RNEERTH) 70,680 31,360 39,320
OZMAAL=Z0IESH AL
95,0002 x62H * 123 70,680
Il 49,476
< 6,362




SA: DEHSH
M MsdE
el MSAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 14,842
dXed 7xl A 72,000 68,000 4,000
201 et 3| 25,200 21,200 4,000
01 At22t2l] 25,200 21,200 4,000
Oget=ZH] 22,000
-S - ot dX2dE Ri E2= MA
3,000& 2,000 6,000
-S - ot dAlgd de-XAESE 7Y
1,500,000 43 6,000
-S - ot = - AY HHE SERX
1,000,000& * 102 10,000
Oogxt= 3,200
2t5 HRMSHSNY 2512
800,000 42| 3,200
202 04| 1,800 1,800
01 2K 1,800 1,800
Os - otHl dX=d |X&Es 0l
150,000 38 *43] 1,800
307 lztol & 45,000 45,000
02 LB HAHE L 45,000 45,000
OS - otAl &KXl FXIHI
25,000,000& x13] 25,000
Os - otAl dXEeE e 2 K&
20,000,000&*13] 20,000
NYBSEEE 5,161,925 4,712,706 449,219
oPIB=E 1,698,373 1,497,836 200,537
201 2= 473,800 368,200 105,600
01 AtR2t2lt] 445,200 340,800 104,400
Oget=ZH| 140,400
-2=S294I(SAH1, 2A=222(d])
550,000 «1H*12& 6,600
-t =ad| 90,0002 20 *10& 52 90,000
-HXEa&| 90,0002 x20EH*102 *23] 36,000
-SSESH| 300,000& x1H~12& 3,600
-2 &SH| 100,000+ 18122 1,200
-CHetola1Eal 2l Haltl
3,000,000& %12 3,000
Ot 285, RUS ¥ =84l 2
30,000,000& *23] 60,000
O3t AIL2HI(54,4E) 244,800
-=20182 32,0002 x84 x300 76,800
-AEl0lE= 28,0002 x202 *300 168,000
02 s3=gHl 28,600 27,400 1,200
OZ332= 2 HMAl 12,000
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Hu: HSNS
ool AyesRsy (crol: & 2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-5P21EIIE B33 (HI], &%)
1,000,000& = 12& 12,000
Od &2 = 350,000& *20H 7,000
OXFZ R 9,600
22, ZHl, 28, WA
800,000 =12 9,600
301 LPBNS 1,224,573 1,129,636 94,937
2= - 2SRSEH3 1,224,573 1,129,636 94,937
OXIEZ Xt 146,041
== 4,756,400 x 1B+ 122 57,077
DX (=4) 3,663,600 x1F + 122 43,964
-32X 45,000,000&*1H 45,000
OH&==(18%) 712,130,070 & 14! 712,131
O=g 150,986
-HESOHI 32,238,400 x60%*23] 38,687
-H2g 13,729,040 & +23] 27,459
~HI2OWZ(EZ2FIDRZ ZE)
500,000& <122 6,000
-tEg 160,000 x2H 122 3,840
NN = 4,200
= 200,000& x1H« 122 2,400
- DX 150,000& 1Hx 122 1,800
-2 70,0002 x20H « 122 16,800
s E Sl 200,000& x20H + 123 48,000
- ESY 100,000& x4 12& 4,800
-NEXtg e &A0i|
150,000& x2H *43| 1,200
OAEE= 1,007,954, 3403 *11.5% 115,915
OX=U2CHe L=
500,000 x21F *43| 42,000
O =E&Z3 3,500,000 x5 H *34 52,500
O | 5,000,000 » 14! 5,000
SNE2Z 685,377 576,601 108,776
201 L2 | 168,450 146,320 22,130
01 At22teld| 139,600 118,470 21,130
OFEIES=1] 139,600
SRAE H4 24 22 79 U 22
300,000& =123 3,600
-Hd4=0 23HI(SAH], 2lz22ld])
550,000&x7H + 12 46,200
-3l &&| 80,0002 x7E x5 103! 28,000
-&dXIZ&| 80,0002 7 ZE 20 *33] 33,600
-(HEtAlBSAHAY A
3,000,000 *12] 3,000




2A:
X XH -
o e

=aak

DEHSD
HSZE
NYPEESY

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-HSESHI 300,000& * 122 3,600
-x|E S 100,002 122! 1,200
~HagE= SUE B 72
10,000,000 x23] 20,000
NYPEAI|L LI (Y L AASS
W A= 400,000 %12 400
2 5234l 28,850 27,850 1,000
O332= € HAl 10,800
-SYE =2 22HI(HD], +&, OtL)
90,0002 %122 10,800
Ol Ml2ER 350,00021 %7 2,450
OAIEEE S8l 6,000
“SAE 24 SN2
3,000,000& %12 3,000
—SAE SHY SXB4
3,000,000& %12 3,000
Oxtgr= Al 9,600
-7%.28 S 800,000& 122 9,600
301 EtE N = 516,927 430,281 86,646
Rzt - 2SEsS2EYS 516,927 430,281 86,646
OXI=Xt 106,328
a5 4,860,600 «1&*12& 58,328
-2 48,000,000 *1& 48,000
Odl==(6¥) 255,332,000 x 14 255,332
O=< 55,549
-GS0l 10,723,800 «60%*22] 12,869
-d2+g 4,119,630 <22 8,240
-E2oRE(F2FIPDRZ 28
160,000« 12& 1,920
-ESE 160,000 2+ 122 3,840
Nt 2,400
a= 200,000 x1H~ 128 2,400
-2dg 70,0002 7 * 122 5,880
-HI= etedd| 200,000& «7H*12& 16,800
—=ItHE=E 100,000 x2&* 122 2,400
-KNEXtzlel A0
150,000 2 *43] 1,200
o4t 282 375,806, 7542 *11.5% 43,218
Od=H EX= 3,400,000& x5t +2H 34,000
OdIHAUEL =
500,000% 7 H 53] 17,500
ORsd+ Y| 5,000,000 14 5,000
=78=29 2,778,175 2,638,269 139,906
306 £= 2,778,175 2,638,269 139,906




SM: DEUSD
Y HRAE

ool NYRSoss (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2d= 2,778,175 2,638,269 139,906
O(M)=Z2M=ME 578 22 22l 9
& 0= 2,778,175,000& x14] 2,778,175
HSALES 21,629,023 154,046 21,474,977
Il 2,000,000
= 11,650,000
Al 7,979,023
SUIRMSAIZ=SEH] 50,000 20,000 30,000
401 AlZHIZ S 0HbI 50,000 20,000 30,000
01 AlZH| 50,000 20,000 30,000
OsUMsEAIE= X & S|
20,000,000 *14] 20,000
O=gs 2U 2SA4E £X
30,000,000 *14! 30,000
C=dMs2 292t 89,023 86,046 2,977
101 @124H| 9,163 8,586 577
M ORINZZENSES 9,163 8,586 577
OU=sdHs2 2ddt| 9,163
-Jl=s 76,9602 * 12 %100 7,6%
—2HAH| 2,0003 18100 200
~MEOIDBE LY 3, 76024124 +1002 376
“AUEEER(AZ, 2%, 08 MTHES)
8,100,000& *11% 891
201 eer23y| 79,860 77,460 2,400
01 AtR2t2lHI 22,740 22,740 0
OZ2Y 2285 PU(EEX S)
150,000 « 128 1,800
O=sg3 4 (4,08 2 13l)
900,000& *22 1,800
OFIIALOHBR| ()8 442
670,0008* 122 8,040
OAYAIL OEEY 222
450,000 123 5,400
O] OHEY 442
200,000 * 122 2,400
05| BIIZA 248
200,000 %14 200
ORY HHAA 248
200,000 %14 200
OSQIZH| AHlAZ % BEE
200,000 122 2,400
OZAIDIA SHEBA =22
200,000 %14 200
OBE0IBAIE AMAA S48
300,000 %14 300

02 S22l 57,120 54,720 2,400




SA: DENSD
M HET
&2l M=ALES (CH9: &S1)
SA - B BRA(SH) - HRA - of v G o HIDE2
o= 2,800,000& ~12& 33,600
OusSHE F5= 1,200,000 12 1,200
ool AIE= 200,000& * 128 2,400
Ogt=g2el g3ltl 500,000 12 500
OJtAANLD BiatZY 282
500,000& %12 500
OCIHUAIE = 60,0002 * 12 720
OxgEgaltl 100,000& %12 100
O&JIgaltl 100,0002 %12 100
Oodgg d=tl 1,000,000& «12& 12,000
OdE JIAEHl, 8gII7S =AM
500,000 * 12 6,000
SEIEHIE A8 11,500,000 11,500,000
s 10,000,000
Al 1,500,000
401 AIEHIZ SR OHYI 10,200,000 10,200,000
[ 10,000,000
Al 200,000
01 Al&HI 10,200,000 10,200,000
OSeBI1Y e SA 10,200,000
-SAb S0tHS(38]) B
6,200,000,000& *14] 6,200,000
= 6,000,000
Al 200,000
-LCIHIE(SHHS, HAIAHAF) 2t
500,000,000& *14] 500,000
< 500,000
-QIGIJtAl 24 BIE 2t
3,500,000,000& *14] 3,500,000
[ 3,500,000
405 AtatsE = 1,300,000 1,300,000
01 ML ESFH S| 1,300,000 1,300,000
OZEZIE 15 s F48J17 72
1,300,000,000& *14] 1,300,000
S UHSHEMS2 JIs22 (20198 aSAHY) 30,000 30,000
401 Al HIZL 201 30,000 30,000
01 Al&H| 30,000 30,000
OUSEASZ K22
30,000,000& » 14 30,000
SE 2N ASSA(FFE) W2+ SM 60,000 60,000
401 AIEHIX R0 60,000 60,000
01 A28l 60,000 60,000
OFF¢ Hssd 2HAE Wi Arg
30,000,000 *14! 30,000




2A:

Ei’*ﬂl%ﬂf

M HET
=aak Iﬂ?%ﬁ\l*i% (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORF4 HS22 278 AL 24 Al
30,000,000& »14] 30,000
=M SEAHSSE N2+ 5,500,000 0 5,500,000
= 1,650,000
Al 3,850,000
401 Al HIZ S 0HHI 5,500,000 0 5,500,000
== 1,650,000
Al 3,850,000
01 Al&HI 5,500,000 0 5,500,000
OU=+3d HE=
5,500,000,000& *14] 5,500,000
= 1,650,000
Al 3,850,000
RE AEHUAY 78 =22 A 4,000,000 0 4,000,000
Jl 2,000,000
Al 2,000,000
401 AlZHIZ SO 4,000,000 0 4,000,000
Il 2,000,000
Al 2,000,000
01 Al&HI 4,000,000 0 4,000,000
ORg ANEHUAZE 37 B2 22 3AK
32) 4,000,000,000& 14 4,000,000
Jl 2,000,000
Al 2,000,000
SHEFC RAH R0 02t A58 d At 50,000 50,000
401 AIEHIX R0 50,000 50,000
01 A28l 50,000 50,000
OSEFC 7ad S7d=s Ot Hdsd =4
At 50,000,000 *14! 50,000
(ZoHeHMA =830 Mzl X 350,000 0 350,000
307 212+01& 350,000 350,000
02 LB HANHEE 350,000 350,000
OE=(ZOH)ME CHEl 2&1Z2] Hal X
360,000,000 * 14 350,000
SEINFAUEHESY 600,000 830, 140 /230,140
SEINEFFHE 22 600,000 830, 140 230,140
306 £= 600,000 700,000 100,000
01 2d= 600,000 700,000 100,000
OsEINFAME 28 N
600,000,000 *14] 600,000
2023E HEIMEEHIDIEE(TF) 2L 605,614 36,700 568,914
20234 d=HA JixI=H| 115,404 36,700 78,704
201 =3 65,004 26,800 38,204
01 AtR2t2lt] 60,924 26,800 34,124




2A:

WEHF

M MsdE
TRl 20P3E A EEHII|ZEHTF) 2 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 32,124
-JIEAMFESSYI 100,000 *15& 1,500
RS E == tu] 150,000 43 600
—SAEX 7Y 23,0002 x408t A% 123 11,040
-OREHEY ¥ A2 P2
500,000 x2CH+63] 6,000
~ROIBHINAE $42
110,000& * 122 1,320
“EANSERE A H MDAl
200,000 * 122 2,400
-S| gx= 682,000& 122 8,184
-0 BAE 30,0002 «1CH* 12 360
-SIEFI| ez
20,0003 =201+ 122 480
J0ISEIH =&
20,0003~ 1CH =122 240
O=el 28,800
S (HH)HME LRFN S201AH|
8,000 x 152 +202 * 12 28,800
02 s3=gHl 4,080 0 4,080
o&IIe3 300,000 * 122 3,600
Odote=Ee= 40,0003 * 122 480
202 04l 50,400 9,900 40,500
01 =LHN LI 50,400 9,900 40,500
O=U0l 50,400
-SS(ZH)HME LRFX 20
20,0002 x 152 *102* 12 36,000
- (FOHR)HE BIXIOHR 22/0iH]
150,000 x8& x2 2 «62] 14,400
0238 d=H=U=zl & E=H0HANM=UH JI= 394,860 394,860
201 er23 | 361,860 361,860
01 At2teltl 338,360 338,360
OSUHME A KX 50,000
S PAIDNIES 100,000 *150F+23] 30,000
AR E &2 10,000,000 x23] 20,000
O2AE 3oMLt € MA(EDAN S)
4,000,000 * 14 4,000
OA& 2o & HA=2S PPT M&
5,000,000& *14] 5,000
OLUME TS H& 3,000
—AIBL 2FAFIH AIIZ 60,0002 +20H 1,200
- HEE ME 10,0002 +80% 800
-SR8 2¥E A 10,000 »100& 1,000
OLUME =4l fFa 29 34 +=¢ 31,360
=239 70,0002 * 130 x22| x80f% 14,560




2A:

WEHF

M MsdE
TRl 20P3E A EEHII|ZEHTF) 2 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
gAY FAF 3
70,0002 *150% 251 80% 16,800
OSUHE BAR 222 M
125,000 %1,800& 225,000
O2UHME 22X =]
8,000212, 5002 20,000
2 22| 3,500 3,500
OYUHE 2B 23
2,500 %2802 +53] 3,500
03 &A=& 20,000 20,000
OLUME BAIY =S EHA & 2
o|thal 15,000,000 * 14! 15,000
OSUHME Nzl S U213
5,000,000 * 14 5,000
301 EtE NS 23,000 23,000
11 dALEBIXNIE S 18,000 18,000
OS=HANE 2t&2] iz
20,0003 *20H & =158 32 18,000
14 JIEt2a3 5,000 5,000
O2ZUNMA d3t=S Ot0ICI B2 Ala2
XZ(AI2) 5,000,000 =14 5,000
303 Za= 10,000 10,000
01 Za= 10,000 10,000
O2HHE d3atE85 Ot0ICIN S22 Alas
N2(S2Y) 5,000,000& 14 5,000
OLUHME R332 o= Ns(2+el
aEd) 50,0002 *100&H 5,000
0238 A= M=l & d=F0L M=zl 82X 95,350 95,350
&
201 =3 90,350 90,350
03 A=l 90,350 90,350
OMEEEE S+ M 7,850
-ad S0 50,0003 234 S+500 2 5,750
- 9 10,0002 %109 2 1,100
-SHE s 1,000,0002 *19H A 1,000
O8E clEx & ZAH M 8,500
2|2 5002 +7,0000H*23] 7,000
—EAH 1,500& +1,0000H 1,500
Ootg s=28 e 4X
21,000,000 *14! 21,000
OO8X 28 22(57H| 28)
300,000& *109H 2 3,000
OMdgs 2SMA(1Es, 023 8)
50,000,000& » 14 50,000
301 2N = 5,000 5,000
14 0Bt 2a3 5,000 5,000




2A:

WEHF

u: SXE
TRl 20P3E A EEHII|ZEHTF) 2 (12l M2
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY

OM&E ZelXl S20/HE Al
5,000,000& 14! 5,000
HY2H LU (NSHS) 63,936 82,916 18,980
Jl2ZH (RS 63,936 82,916 18,980
JI2ZH(REHs) 63,936 82,916 18,980
201 Zet2& ] 30,036 36,476 26,440
01 AtR2telb] 30,036 36,476 26,440
Oget=ZH| 21,300
-JI=ARE3 100,000& «13¥ 1,300
RS ==t 150,000 *62] 900
S8 gX= 400,000 «2CH 12 9,600
-SAEX 2 23,0003 » 158t A+ 122 4,140
-S| |Xl2el|
500,000& = 1CH+32] 1,500
=80l EY 2 S8 2|
500,000& »1CH*72] 3,500
-0 gX= 30,0002 «1CH+ 123 360
O=sg| 8,736
“USHS HRFA S20HAH|
8,000 x 132 +72x 12 8,736
202 044l 31,200 43,200 12,000
01 =LHO LI 31,200 43,200 /12,000
Ou=sH=s €28 0ol
20,0002 13 #1024« 12& 31,200
203 FR=4| 2,700 3,240 AB540
M RFA2HLRFEI 2,700 3,240 A540
OusH=1t 250,000 * 122 »90% 2,700
Hees(nsHs) 225,673 242,988 A17,315
WM E(LEHSY) 225,673 242,988 A17,315
w=H S8 dES 225,673 242,988 A17,315
703 W=HISEIHEES 225,673 242,988 A17,315
01 HEEES 225,673 242,988 A17,315
O20238 Nssty RFANE 2EHS3
225,673,000 14 225,673




